



BID TABULATION

Bid Name: Alcatel Lucent Hardware & Software

Buyers Name: Shay Roberts
Buyer Email: sjroberts@ocalafl.org
Buyer Phone: 352-629-8384
Notifications Sent: 37
Watching: 3
Bids: 3

ProRFx ID:ITB09182000000118

Solicitation No: ITB# OFN/200610

ProRFx Type: ITB: Services

10/8/20 Notice of Intent to Award to Morse Communicatons, Inc pending City Council approval.

| | |
|---|-----------------------|
| Morse Communications Inc Melbourne, FL | \$1,330,546.44 |
| Anixter, Inc Glenview, IL | \$1,468,432.75 |
| EIS Intermediate Holdings LLC Atlanta, GA | \$1,651,815.23 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|--|----------|---------------------|------------|------------|
| OS6250-8M | OS6250-8M Fast Ethernet chassis, AOS Metro SW, 1RU by 1/2 rack width. 8 RJ45 10/100 BaseT, 2xSFP/RJ45 combo, 2 SFP 1G uplink or 2x2.5G stacking ports. Includes internal AC PSU, US power cord, software access card, and RJ45-DB9 adaptor. | 20 | EA | | |
| | Morse Communications Inc | 20 | EA | \$392.70 | \$7,854.00 |
| | Anixter, Inc | 20 | EA | \$434.31 | \$8,686.20 |
| | EIS Intermediate Holdings LLC | 20 | EA | \$489.47 | \$9,789.40 |

| | | | | | |
|--------------|---|----|----|---------|----------|
| OS6250-RM-19 | Tray kit for mounting one OS6250 in a 19 rack. | 20 | EA | | |
| | Morse Communications Inc | 20 | EA | \$35.28 | \$705.60 |
| | Anixter, Inc | 20 | EA | \$39.02 | \$780.40 |
| | EIS Intermediate Holdings LLC | 20 | EA | \$43.97 | \$879.40 |

| | | | | | |
|----------------|---|----|----|---------|----------|
| OS6250-RM-19-L | Simple L-bracket for mounting a single OS6250 switch in a 19 rack. | 20 | EA | | |
| | Morse Communications Inc | 20 | EA | \$9.35 | \$187.00 |
| | Anixter, Inc | 20 | EA | \$10.35 | \$207.00 |
| | EIS Intermediate Holdings LLC | 20 | EA | \$11.65 | \$233.00 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|--|----------|---------------------|------------|------------|
| OS6350-10 | OS6350-10-US OS6350-10 GigE chassis with 8xRJ-45 10/100/1000BaseT, 2xSFP/RJ-45 10/100/1000BaseT or 100/1000BaseX combo ports. 1U by 1/2 rack form factor, internal AC power with country power cord, fanless. | 11 | EA | | |
| | Morse Communications Inc | 11 | EA | \$340.43 | \$3,744.73 |
| | Anixter, Inc | 11 | EA | \$376.50 | \$4,141.50 |
| | EIS Intermediate Holdings LLC | 11 | EA | \$424.31 | \$4,667.41 |

| | | | | | |
|------------|---|----|----|----------|------------|
| OS6350-P10 | OS6350-P10-US OS6350-P10 GE fixed chassis with 8 x PoE+ RJ-45 10/100/1000 BaseT, 2 x SFP/RJ-45 combo ports. 1U by 1/2 rack form factor, internal AC supply 120W PoE budget), fan less. | 11 | EA | | |
| | Morse Communications Inc | 11 | EA | \$470.48 | \$5,175.28 |
| | Anixter, Inc | 11 | EA | \$520.32 | \$5,723.52 |
| | EIS Intermediate Holdings LLC | 11 | EA | \$586.41 | \$6,450.51 |

| | | | | | |
|------------|---|----|----|------------|-------------|
| OS6860E-24 | OS6860E-24-US OS6860E-24GigE L3 chassis with 24 10/100/1000 RJ-45, 4 fixed SFP+ 1G/10G) ports, 2x20G stack ports, Enhanced network services, 1xAC power supply, country specific power cord, AR SW / AOS 8.3.1.R01 | 18 | EA | | |
| | Morse Communications Inc | 18 | EA | \$2,650.73 | \$47,713.14 |
| | Anixter, Inc | 18 | EA | \$2,930.67 | \$52,752.06 |
| | EIS Intermediate Holdings LLC | 18 | EA | \$3,303.92 | \$59,470.56 |

| | | | | | |
|------------|--|----|----|------------|-------------|
| OS6860E-48 | OS6860E-48-US OS6860E-48 GigE L3 chassis with 48 10/100/1000 RJ-45, 4 fixed SFP+ 1G/10G) ports, 2x20G stack ports, Enhanced network services, 1xAC power supply, country specific power cord, AR SW / AOS 8.3.1.R01 | 23 | EA | | |
| | Morse Communications Inc | 23 | EA | \$4,295.48 | \$98,796.04 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|-------------------------------|----------|---------------------|------------|--------------|
| | Anixter, Inc | 23 | EA | \$4,750.65 | \$109,264.95 |
| | EIS Intermediate Holdings LLC | 23 | EA | \$5,353.98 | \$123,141.54 |

| | | | | | |
|-------------|---|----|----|------------|--------------|
| OS6860E-U28 | OS6860E-U28-US OS6860E-U28 GigE L3 chassis with 28x 100/1000 Base-X SFP ports, 4 fixed SFP+ 1G/10G) ports, 2x20G stack ports, Enhanced network services, 1xAC power supply, country specific power cord, AR SW / AOS 8.3.1 | 27 | EA | | |
| | Morse Communications Inc | 27 | EA | \$3,976.30 | \$107,360.10 |
| | Anixter, Inc | 27 | EA | \$4,397.65 | \$118,736.55 |
| | EIS Intermediate Holdings LLC | 27 | EA | \$4,956.15 | \$133,816.05 |

| | | | | | |
|-----------|---|----|----|----------|-------------|
| OS6860-BP | OS6860-BP-US OS6860-BP modular 150W AC backup power supply. Provides backup power to one non-PoE OS6860 or OS6860E switch. Ships with country specific power cord. | 27 | EA | | |
| | Morse Communications Inc | 27 | EA | \$265.20 | \$7,160.40 |
| | Anixter, Inc | 27 | EA | \$527.85 | \$14,251.95 |
| | EIS Intermediate Holdings LLC | 27 | EA | \$330.55 | \$8,924.85 |

| | | | | | |
|------------|--|---|----|------------|-------------|
| OS6860-P48 | OS6860-P48 Gigabit Ethernet L3 1RU chassis. 48 RJ45 10/100/1000 BaseT PoE+ ports, 4x10G SFP+, 2x20G stacking ports. Includes 920W AC PoE power supply, country specific power cord, user manuals access card, micro-USB to USB console adaptor. | 7 | EA | | |
| | Morse Communications Inc | 7 | EA | \$4,825.48 | \$33,778.36 |
| | Anixter, Inc | 7 | EA | \$5,336.78 | \$37,357.46 |
| | EIS Intermediate Holdings LLC | 7 | EA | \$6,014.55 | \$42,101.85 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|---|----------|---------------------|------------|------------|
| OS6860-BP-PX | OS6860-BP-PX-US OS6860-BP-PX modular 920W AC PoE backup power supply. Provides system and PoE backup power to one PoE OS6860 or OS6860E switch. Ships with country specific power cord | 7 | EA | | |
| | Morse Communications Inc | 7 | EA | \$795.60 | \$5,569.20 |
| | Anixter, Inc | 7 | EA | \$879.80 | \$6,158.60 |
| | EIS Intermediate Holdings LLC | 7 | EA | \$991.65 | \$6,941.55 |

| | | | | | |
|------------|---|---|----|------------|-------------|
| OS6860-P24 | OS6860-P24 Gigabit Ethernet L3 1RU chassis. 24 RJ45 10/100/1000 BaseT PoE+ ports, 4x10G SFP+, 2x20G stacking ports. Includes 600W AC PoE power supply, country specific power cord, user manuals access card, micro-USB to USB console adaptor | 7 | EA | | |
| | Morse Communications Inc | 7 | EA | \$3,235.10 | \$22,645.70 |
| | Anixter, Inc | 7 | EA | \$3,577.91 | \$25,045.37 |
| | EIS Intermediate Holdings LLC | 7 | EA | \$4,032.30 | \$28,226.10 |

| | | | | | |
|---------------|---|---|----|------------|-------------|
| OS6860E-P24Z8 | OS6860E-P24Z8 Multi-Gigabit L3 chassis with 16 PoE+ 10/100/1000 RJ45, 8 multi-gig PoE+ 75W PoE), 4-fixed SFP+ 1G/10G) ports, 2x20G stack ports, Enhanced network services, 1xAC power supply, power cord, AR SW | 9 | EA | | |
| | Morse Communications Inc | 9 | EA | \$4,700.50 | \$42,304.50 |
| | Anixter, Inc | 9 | EA | \$5,198.59 | \$46,787.31 |
| | EIS Intermediate Holdings LLC | 9 | EA | \$5,858.81 | \$52,729.29 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|---|----------|---------------------|------------|-------------|
| OS6860E-P24Z8 | OS6860E-P24Z8 Multi-Gigabit L3 chassis with 16 PoE+ 10/100/1000 RJ45, 8 multi-gig PoE+ 75W PoE), 4 fixed SFP+ 1G/10G) ports, 2 stack ports, Enhanced network services, 1xAC power supply, power cord, AR SW. Redundant power ordered separately | 9 | EA | | |
| | Morse Communications Inc | 9 | EA | \$4,700.50 | \$42,304.50 |
| | Anixter, Inc | 9 | EA | \$5,198.59 | \$46,787.31 |
| | EIS Intermediate Holdings LLC | 9 | EA | \$5,858.81 | \$52,729.29 |
| | Bidder 4 | 9 | EA | \$0.00 | \$0.00 |

| | | | | | |
|--------------|---|----|----|----------|-------------|
| OS6860-BP-PH | OS6860-BP-PH-US OS6860-BP-PH modular 600W AC PoE backup power supply. Provides system and PoE backup power to one PoE OS6860 or OS6860E switch. Ships with country specific power cord | 39 | EA | | |
| | Morse Communications Inc | 39 | EA | \$530.40 | \$20,685.60 |
| | Anixter, Inc | 39 | EA | \$527.85 | \$20,586.15 |
| | EIS Intermediate Holdings LLC | 39 | EA | \$661.10 | \$25,782.90 |

| | | | | | |
|-------------|---|---|----|----------|----------|
| SW1N-OS6860 | 1YR SUPPORT Software for all OS6860 Basic and Enhanced models. Includes 24x7 Remote Telephone Support, 24x7 Remote Problem Diagnosis, access to Software Updates and Upgrades, and access to support portal. | 1 | EA | | |
| | Morse Communications Inc | 1 | EA | \$159.38 | \$159.38 |
| | Anixter, Inc | 1 | EA | \$142.78 | \$142.78 |
| | EIS Intermediate Holdings LLC | 1 | EA | \$141.08 | \$141.08 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|--|----------|---------------------|------------|-------------|
| OS6860N-P48Z | Multi-GigE L3 chassis,1RU size with 36 10/100/1000 BaseT 60W bt PoE, 12 100/1G/2.5G/5G BaseT 95W bt PoE, 4 SFP28 (1G/10G/25G) MACsec and 2 QSFP28 VFL ports.. Includes 920W AC PS, power cord, 19" rack-mount kit and a micro-USB-to-USB console cable | 6 | EA | | |
| | Morse Communications Inc | 6 | EA | \$6,131.05 | \$36,786.30 |
| | Anixter, Inc | 6 | EA | \$6,780.72 | \$40,684.32 |
| | EIS Intermediate Holdings LLC | 6 | EA | \$7,641.88 | \$45,851.28 |

| | | | | | |
|-------------|--|----|----|------------|-------------|
| OS6860N-U28 | Gig L3 chassis,1RU size with 24 x 100/1000 BaseX SFP ports, 4 x 1G/10G SFP+ ports, USB, EMP and 2 QSFP28 VFL ports. Includes AC PS, country-specific power cord, 19" rack-mount kit and a micro-USB-to-USB console cable | 13 | EA | | |
| | Morse Communications Inc | 13 | EA | \$5,149.30 | \$66,940.90 |
| | Anixter, Inc | 13 | EA | \$5,694.95 | \$74,034.35 |
| | EIS Intermediate Holdings LLC | 13 | EA | \$5,834.42 | \$75,847.46 |

| | | | | | |
|-------------|---|----|----|----------|------------|
| OS68-XNI-U4 | OS68-XNI-U4: One uplink module for OS6860N-P48M with 4 1/10G SFP+ ports. All ports are 256-bit MACsec capable | 13 | EA | | |
| | Morse Communications Inc | 13 | EA | \$442.00 | \$5,746.00 |
| | Anixter, Inc | 13 | EA | \$488.83 | \$6,354.79 |
| | EIS Intermediate Holdings LLC | 13 | EA | \$550.92 | \$7,161.96 |

| | | | | | |
|-------------|---|----|----|----------|-------------|
| OS68-QNI-U2 | OS68-QNI-U2: One uplink module for OS6860N-P48M with 2 10/40G QSFP+ ports. All ports are 256-bit MACsec capable | 13 | EA | | |
| | Morse Communications Inc | 13 | EA | \$638.35 | \$8,298.55 |
| | Anixter, Inc | 13 | EA | \$705.99 | \$9,177.87 |
| | EIS Intermediate Holdings LLC | 13 | EA | \$795.65 | \$10,343.45 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|---|----------|---------------------|------------|-------------|
| OS68-CNI-U1 | OS68-CNI-U1: One uplink module for OS6860N-P48M with 1 25/100G QSFP28 ports. All ports are 256-bit MACsec capable | 13 | EA | | |
| | Morse Communications Inc | 13 | EA | \$687.23 | \$8,933.99 |
| | Anixter, Inc | 13 | EA | \$760.04 | \$9,880.52 |
| | EIS Intermediate Holdings LLC | 13 | EA | \$856.57 | \$11,135.41 |

| | | | | | |
|-------------|---|----|----|----------|-------------|
| OS68-VNI-U4 | OS68-VNI-U4: One uplink module for OS6860N-P48M with 4 1/10/25G SFP28 ports. All ports are 256-bit MACsec capable | 13 | EA | | |
| | Morse Communications Inc | 13 | EA | \$687.23 | \$8,933.99 |
| | Anixter, Inc | 13 | EA | \$760.04 | \$9,880.52 |
| | EIS Intermediate Holdings LLC | 13 | EA | \$856.57 | \$11,135.41 |

| | | | | | |
|--------------|--|----|----|----------|------------|
| OS6860N-BPPH | OS6860N-BPPH modular 600W AC PoE backup power supply. Provides system and PoE backup power to one PoE OS6860N switch. Ships with country specific power cord. Not compatible with OS6860/OS6860E switch. | 13 | EA | | |
| | Morse Communications Inc | 13 | EA | \$530.40 | \$6,895.20 |
| | Anixter, Inc | 13 | EA | \$586.61 | \$7,625.93 |
| | EIS Intermediate Holdings LLC | 13 | EA | \$661.10 | \$8,594.30 |

| | | | | | |
|--------------|---|----|----|----------|-------------|
| OS6860N-BPPX | OS6860N-BPPX modular 920W AC PoE backup power supply. Provides system and PoE backup power to one PoE OS6860N switch. Ships with country specific power cord. Not compatible with OS6860/OS6860E switch | 13 | EA | | |
| | Morse Communications Inc | 13 | EA | \$795.60 | \$10,342.80 |
| | Anixter, Inc | 13 | EA | \$879.80 | \$11,437.40 |
| | EIS Intermediate Holdings LLC | 13 | EA | \$991.65 | \$12,891.45 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|--|----------|---------------------|-------------|--------------|
| OS6900X48-F | 1RU 10GE L3 fixed chassis with 48 10G SFP+ ports and 6 100G QSFP28 ports. SFP+ ports operate as 1/10GE. QSFP28 ports operate as 100GE/40GE/4x25GE/4x10GE. Front to back cooling. Includes dual AC power supplies, cord, manuals access card and rack mounts. | 11 | EA | | |
| | Morse Communications Inc | 11 | EA | \$12,762.75 | \$140,390.25 |
| | Anixter, Inc | 11 | EA | \$14,115.16 | \$155,266.76 |
| | EIS Intermediate Holdings LLC | 11 | EA | \$15,907.78 | \$174,985.58 |

| | | | | | |
|--------------|--|----|----|-------------|--------------|
| OS6900-X72-F | OS6900-X72-F 1RU 10GE L3 fixed chassis with 48 10G SFP+ and 6 40G QSFP+ ports. QSFP+ ports operate as 40GE or 4x10GE. Front to back cooling. Includes AC power supply and cord. Ships with manuals access card and rack mounts. OS6900-SW-AR license included. | 20 | EA | | |
| | Morse Communications Inc | 20 | EA | \$12,419.35 | \$248,387.00 |
| | Anixter, Inc | 20 | EA | \$13,735.37 | \$274,707.40 |
| | EIS Intermediate Holdings LLC | 20 | EA | \$15,479.76 | \$309,595.20 |

| | | | | | |
|--------------|---|---|----|-------------|-------------|
| OS6900-C32-F | 1RU 100GE L3 fixed chassis with 32 100G QSFP28 ports. QSFP28 ports operate as 100GE, 40GE, 4x25GE or 4x10GE. Front to back cooling. Includes AC power supply and cord. Ships with manuals access card and rack mounts. US | 3 | EA | | |
| | Morse Communications Inc | 3 | EA | \$15,708.00 | \$47,124.00 |
| | Anixter, Inc | 3 | EA | \$17,372.51 | \$52,117.53 |
| | EIS Intermediate Holdings LLC | 3 | EA | \$19,578.81 | \$58,736.43 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|---|----------|---------------------|-------------|-------------|
| OS6900-V72-F | 1RU 25GE L3 fixed chassis with 48 25G SFP28 and 6 100G QSFP28 ports. SFP28 ports operate as 25GE or 10GE. QSFP28 ports operate as 100GE or 40GE. Front to back cooling. Includes AC power supply and cord. Ships with manuals access card and rack mounts. US | 3 | EA | | |
| | Morse Communications Inc | 3 | EA | \$13,744.50 | \$41,233.50 |
| | Anixter, Inc | 3 | EA | \$15,200.94 | \$45,602.82 |
| | EIS Intermediate Holdings LLC | 3 | EA | \$17,131.46 | \$51,394.38 |

| | | | | | |
|--------------|--|----|----|----------|-------------|
| OS6900C-BP-F | Modular 650W AC backup power supply. Front-to-back cooling. Provides system power to one OS6900-V72 or C32 switch. Includes country specific power cord. | 39 | EA | | |
| | Morse Communications Inc | 39 | EA | \$540.18 | \$21,067.02 |
| | Anixter, Inc | 39 | EA | \$597.42 | \$23,299.38 |
| | EIS Intermediate Holdings LLC | 39 | EA | \$673.29 | \$26,258.31 |

| | | | | | |
|-------------|---|---|----|----------|------------|
| OS6900-BP-F | OS6900-BP-F Modular AC backup power supply. Front to back cooling. Provides backup system power to one 6900 switch. Ships with country specific power cord. | 3 | EA | | |
| | Morse Communications Inc | 3 | EA | \$540.18 | \$1,620.54 |
| | Anixter, Inc | 3 | EA | \$597.42 | \$1,792.26 |
| | EIS Intermediate Holdings LLC | 3 | EA | \$673.29 | \$2,019.87 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|---|----------|---------------------|------------|------------|
| ST1R-OS6900 | 1YR Renewal SUPPORT Total for all OS6900 Chassis models. Includes 24x7 Remote Support / Diagnosis, access to SW Updates / support portal and next business day advance HW replacement. Chassis, PSU, modules and fantray are included. Availability per country | 3 | EA | | |
| | Morse Communications Inc | 3 | EA | \$2,268.44 | \$6,805.32 |
| | Anixter, Inc | 3 | EA | \$2,032.14 | \$6,096.42 |
| | EIS Intermediate Holdings LLC | 3 | EA | \$2,008.05 | \$6,024.15 |

| | | | | | |
|-------------|--|---|----|------------|-------------|
| OS6865-P16X | OS6865-P16X Hardened Gigabit Ethernet L3 chassis 12 RJ45 10/100/1000 BaseT PoE+ ports 4 are 75W PoE capable) 2x1000BaseX SFP, 2 SFP+, RS232 Console, USB ports. Includes AC PSU, Country specific power cord, user manuals | 7 | EA | | |
| | Morse Communications Inc | 7 | EA | \$3,276.75 | \$22,937.25 |
| | Anixter, Inc | 7 | EA | \$3,623.97 | \$25,367.79 |
| | EIS Intermediate Holdings LLC | 7 | EA | \$4,084.22 | \$28,589.54 |

| | | | | | |
|-------------|--|---|----|------------|-------------|
| OS6865-U12X | OS6865-U12X-US OS6865-U12X Hardened Gigabit Ethernet L3 chassis 4 100/1000 BaseX SFP, 2 1000 BaseX SFP, 4 10/100/1000 BaseT PoE+ ports75W PoE), 2 SFP+, RS-232 Console, USB ports. Includes AC PSU | 5 | EA | | |
| | Morse Communications Inc | 5 | EA | \$3,076.58 | \$15,382.90 |
| | Anixter, Inc | 5 | EA | \$3,402.58 | \$17,012.90 |
| | EIS Intermediate Holdings LLC | 5 | EA | \$3,835.57 | \$19,177.85 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|---|----------|---------------------|------------|--------------|
| OS6865-U28X | OS6865-U28X-US OS6865-U28X Hardened Gigabit Ethernet L3 1RU chassis.20 100/1000 BaseX SFP, 4 SFP+, 4x75W PoE capable 10/100/1000 Baset PoE+, RS-232 Console, USB, 2x20G VFL/stacking ports. Includes AC PSU | 17 | EA | | |
| | Morse Communications Inc | 17 | EA | \$5,300.18 | \$90,103.06 |
| | Anixter, Inc | 17 | EA | \$5,861.81 | \$99,650.77 |
| | EIS Intermediate Holdings LLC | 17 | EA | \$6,606.26 | \$112,306.42 |

| | | | | | |
|---------------|--|---|----|--------|--------|
| OV4-START-NEW | OV4-START-NEW -OV2500 NMS-Starter Pack-NEW R4. Incl 10 ALU-E device lic. 1xlic. /switch in stack/VC config) 10 3rd Party Lic. 1x lic. / mgmt IP) VMM lic. for 10vm, 10 AP, 10GA, 10 BYOD licenses. Use add EX parts for add. config. Req. online activ | 1 | EA | | |
| | Morse Communications Inc | 1 | EA | \$0.03 | \$0.03 |
| | Anixter, Inc | 1 | EA | \$0.05 | \$0.05 |
| | EIS Intermediate Holdings LLC | 1 | EA | \$0.07 | \$0.07 |

| | | | | | |
|---------------|--|---|----|--------|--------|
| SW1N-OV4START | 1YR 24x7 SUPPORT SOFTWARE for OV4-START-NEW / OV4-START-UPG. Incl. 24x7 Remote TEL. Supt., 24x7 Remote Problem Diagnosis, SW. Update, / access to supt. portal. If MAINT. is ordered on one OV R4 Model No needed on all OV Model No for each OV server. | 1 | EA | | |
| | Morse Communications Inc | 1 | EA | \$0.01 | \$0.01 |
| | Anixter, Inc | 1 | EA | \$0.03 | \$0.03 |
| | EIS Intermediate Holdings LLC | 1 | EA | \$0.01 | \$0.01 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|--|----------|---------------------|------------|-------------|
| OS6465-P12-US | Hardened GigE fan-less switch. 8x10/100/1000 Base-T RJ-45 PoE+ (4x60W PoE), 4x100/1000 Base-X SFP, RS-232 Console, Alarm relay: 1 In 1 out & USB port. Includes 75W AC PSU, US power cord, user manuals access card & TS-35/7.5 or 15 DIN rail mounting hardware | 25 | EA | | |
| | Morse Communications Inc | 25 | EA | \$1,360.85 | \$34,021.25 |
| | Anixter, Inc | 25 | EA | \$1,505.05 | \$37,626.25 |
| | EIS Intermediate Holdings LLC | 25 | EA | \$1,696.19 | \$42,404.75 |

| | | | | | |
|------------|--|----|----|----------|-------------|
| OS6465T-12 | Plenum Rated GE fixed chassis with 8 x RJ-45 10/100/1000 BaseT 2 x SFP/RJ-45 combo ports, 2 x SFP Uplinks/Stacking ports, 1U by 1/2 rack form factor, internal AC supply (64W), operational -10 C to -60 C. Order 19" rack mount kit separately. Includes country specific power cord. | 25 | EA | | |
| | Morse Communications Inc | 25 | EA | \$548.25 | \$13,706.25 |
| | Anixter, Inc | 25 | EA | \$606.35 | \$15,158.75 |
| | EIS Intermediate Holdings LLC | 25 | EA | \$683.35 | \$17,083.75 |

| | | | | | |
|--------------|--|----|----|----------|------------|
| OS6465-BPN-H | OS6465 modular DIN 180W AC backup power supply. Provides system & PoE power to one OS6465-P6 or OS6465-P12 switch. Ships with country specific power cord & TS-35/7.5 or 15 DIN rail mounting hardware | 23 | EA | | |
| | Morse Communications Inc | 23 | EA | \$248.20 | \$5,708.60 |
| | Anixter, Inc | 23 | EA | \$274.50 | \$6,313.50 |
| | EIS Intermediate Holdings LLC | 23 | EA | \$309.35 | \$7,115.05 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|---|----------|---------------------|------------|-------------|
| OS6465-BPR | Modular load sharing 180 W AC backup power supply for OS6465-P28. Provides system & PoE power to one OS6465-P28 switch. Autoranging90VAC - 260VAC. Includes country specific power cord | 23 | EA | | |
| | Morse Communications Inc | 23 | EA | \$545.28 | \$12,541.44 |
| | Anixter, Inc | 23 | EA | \$603.06 | \$13,870.38 |
| | EIS Intermediate Holdings LLC | 23 | EA | \$679.64 | \$15,631.72 |

| | | | | | |
|-----------------|--|----|----|----------|------------|
| OS6465-WALL-MNT | Wall / Panel mounting kit for OS6465-P6 & OS6465-P12. Includes 4 brackets and screws for mounting on sheet metal | 11 | EA | | |
| | Morse Communications Inc | 11 | EA | \$694.88 | \$7,643.68 |
| | Anixter, Inc | 11 | EA | \$256.17 | \$2,817.87 |
| | EIS Intermediate Holdings LLC | 11 | EA | \$300.49 | \$3,305.39 |

| | | | | | |
|-------------|--|---|----|---------|---------|
| SW1N-OS6465 | 1YR SUPPORT Software for all OS6465 models. Includes 24x7 Remote Telephone Support, 24x7 Remote Problem Diagnosis, access to Software Updates and Upgrades, and access to support portal | 1 | EA | | |
| | Morse Communications Inc | 1 | EA | \$58.44 | \$58.44 |
| | Anixter, Inc | 1 | EA | \$52.35 | \$52.35 |
| | EIS Intermediate Holdings LLC | 1 | EA | \$51.73 | \$51.73 |

| | | | | | |
|----------------|--|---|----|------------|-------------|
| QSFP-100G-A20M | 100 Gigabit QSFP28 direct attached active optical cable. 20 m. | 6 | EA | | |
| | Morse Communications Inc | 6 | EA | \$1,168.75 | \$7,012.50 |
| | Anixter, Inc | 6 | EA | \$1,292.59 | \$7,755.54 |
| | EIS Intermediate Holdings LLC | 6 | EA | \$2,972.97 | \$17,837.82 |

| | | | | | |
|---------------|--|---|----|----------|------------|
| QSFP-100G-C1M | 100 Gigabit direct attached copper cable 1m, QSFP28) | 6 | EA | | |
| | Morse Communications Inc | 6 | EA | \$210.38 | \$1,262.28 |
| | Anixter, Inc | 6 | EA | \$232.67 | \$1,396.02 |
| | EIS Intermediate Holdings LLC | 6 | EA | \$535.14 | \$3,210.84 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|--|----------|---------------------|------------|------------|
| QSFP-100G-C3M | 100 Gigabit direct attached copper cable 3m, QSFP28) | 6 | EA | | |
| | Morse Communications Inc | 6 | EA | \$257.13 | \$1,542.78 |
| | Anixter, Inc | 6 | EA | \$284.37 | \$1,706.22 |
| | EIS Intermediate Holdings LLC | 6 | EA | \$327.03 | \$1,962.18 |

| | | | | | |
|---------------|--|---|----|----------|------------|
| QSFP-100G-C5M | 100 Gigabit direct attached copper cable 5m, QSFP28) | 6 | EA | | |
| | Morse Communications Inc | 6 | EA | \$327.25 | \$1,963.50 |
| | Anixter, Inc | 6 | EA | \$361.92 | \$2,171.52 |
| | EIS Intermediate Holdings LLC | 6 | EA | \$416.22 | \$2,497.32 |

| | | | | | |
|----------------|--|----|----|----------|------------|
| QSFP-40G-C40CM | 40 Gigabit direct attached copper cable 40 cm, QSFP+ | 20 | EA | | |
| | Morse Communications Inc | 20 | EA | \$163.63 | \$3,272.60 |
| | Anixter, Inc | 20 | EA | \$180.96 | \$3,619.20 |
| | EIS Intermediate Holdings LLC | 20 | EA | \$135.14 | \$2,702.80 |

| | | | | | |
|--------------|---|----|----|----------|------------|
| QSFP-40G-C1M | 40 Gigabit direct attached copper cable 1M, QSFP+ | 20 | EA | | |
| | Morse Communications Inc | 20 | EA | \$210.38 | \$4,207.60 |
| | Anixter, Inc | 20 | EA | \$232.67 | \$4,653.40 |
| | EIS Intermediate Holdings LLC | 20 | EA | \$267.57 | \$5,351.40 |

| | | | | | |
|----------------|---|----|----|----------|------------|
| QSFP-4X10G-C3M | 40 Gigabit to 4 x 10 Gigabit direct attached copper splitter cable 3m, QSFP+) | 20 | EA | | |
| | Morse Communications Inc | 20 | EA | \$172.95 | \$3,459.00 |
| | Anixter, Inc | 20 | EA | \$191.31 | \$3,826.20 |
| | EIS Intermediate Holdings LLC | 20 | EA | \$220.00 | \$4,400.00 |

| | | | | | |
|-------------|---|---|----|---------|---------|
| SP1R-OS6250 | 1YR Renewal SUPPORT Plus for all OmniSwitch 6250 Chassis Includes 24x7 Remote Telephone Support and Problem Diagnosis, access to AOS Updates/Upgrades and support portal and next business day advance hardware replacement (AVR) See WWPL country availability | 1 | EA | | |
| | Morse Communications Inc | 1 | EA | \$74.38 | \$74.38 |
| | Anixter, Inc | 1 | EA | \$66.63 | \$66.63 |
| | EIS Intermediate Holdings LLC | 1 | EA | \$65.84 | \$65.84 |

| Product Number | Description | Quantity | Unit of Measurement | Unit Price | Amount |
|----------------|--|----------|---------------------|------------|----------|
| SP1R-OS6350 | 1YR Renewal SUPPORT Plus for all OS6350 chassis. Includes 24x7 Remote Telephone Support and Problem Diagnosis, access to AOS Updates/Upgrades and support portal, and next business day advance hardware replacement (AVR). See WWPL for country availability. | 1 | EA | | |
| | Morse Communications Inc | 1 | EA | \$137.06 | \$137.06 |
| | Anixter, Inc | 1 | EA | \$122.79 | \$122.79 |
| | EIS Intermediate Holdings LLC | 1 | EA | \$121.33 | \$121.33 |